Exam 1
Morning (AM)

Answers for question 97 — 110 of Fixed Income
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(Reading 52 & Reading 55)
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(%o
B. ffi%i fUELZ Fll (coupon rate) &5 » £ SR (U I ARE (price sensitivity)
@FJI'J °
C. ﬁﬂ*@*ﬁ?ﬁ??EW@ﬁ@mwhmmmmwﬁwp@pﬂwwgwﬁﬁg
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(Reading 54)
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(Reading 54)
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fs o F Tl Bt ESEF I
(Par Value) (Market Value) (Macaulay duration) (YTM)
A 2,200,000 2,600,000 3.296 6.0
B 12,000,000 980,000 4.680 8.0
C 3,600,000 3,150,000 5.330 5.0

%ﬁ Eﬁ” S TR )T ST RN [weighted average annual modified
duratlon) L4 J/ ?
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(Reading 55)
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(Reading 52)
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A. 35,[; i ["E]?}‘ (premium bond) [V L5 F[J= (coupon rate) FJ,'JJE?‘ [PBECHIVTAFEF (the
yield required by the market) °
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(Reading 54)

105. ?l[ J5EF5F (market yield) £ 8%l SRR M TS5 F A F ] (annual payment)
ELFTFIIER (coupon rate) 6 %1V (fi 75 ’?I[lﬁggfkﬁéjﬁfﬁﬁ?ﬂif EFIR e R AV R
FJEL (coupon payments) ﬁBJ\ | 10%[F|[5 (=F {25 (reinvestment) » FI[JE! B U

(realized return) FLff ?

A [XFT 6% -
B. [iH6%% 8%/t -
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(required yield) ~ RS (required rate of return)
(Reading 54)



106. 54 * T [ I GEF5 (market yield) £5 7%Eﬁ FE RS 8 F 2|1~ 8%pYF {i] (annual-pay) ['??
S4E %H '|°F5ﬁ§‘§ SRS ] R AR AN [RE R 5% X Eh’%}fﬁ?Mﬁ % o
ﬁ%ﬁﬂﬁgj}g o M AYELS FIELE [HEYIE * (coupon reinvestment income) £% % DTk (97 4 =
[H] BT (realized rate of return) £y %) ?

ELITFIIRLF 45 4 5 [ P
A. $34.48 818 %
B. $34.48 8379%
C. $35.52 8.37%

F@FAT A
mepr o QST HIELF[#E ¥ (coupon reinvestment income) £} :
N=4, [/Y=5, PVv=0, PMT=-8, CPT = FV=3448
['E'i?} [l Eﬁ ElfJﬁE (purchase price) £} :
N=8, I'Y=7, PMT=-8, FV=-100, CPT = PV=105971
['???? %H '.Eﬁ EIfJ_E,_IE (sale price) £% :
N=8-4=4, I/'Y=5, PMT=-8, FV=-100, CPT = PV=110.638
AlpNE & & (total return) £
$34.481 + $110.638 = $145,119
4 7 [V IRV S (realized rate of return) £

1

SWSION o 0818 = 8.18 %
$105.971

ffﬁjgt DI (realized rate of return) KJ?QE?",E F5EF]E# (holding yield) FYF “‘E\ |

I:{_
P[HEE = (annualized holding-period rate of return) o
(Reading 55)
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108. [ F%I%”ﬁﬂiﬂl%ﬁgf (matrix pricing) "fUS {7 ¥ [ ?
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" B [F‘[ J}Hpﬁ N [?i TR L[ [iﬁ Fi3F (market discount rate) o
ﬁ - “ JE" [F‘[ET fiﬂ B T iF"ﬁ i (not actively traded) [?ﬁ “h Ji[liﬁﬁfﬁﬁﬁ (market
discount rate) I'] B Ft ETE ”’*?F‘
=g {4 B (less frequently traded) i’ F*4i (comparable) fIv ['Ei?} N % (quoted
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(Reading 54)

109. :"E’[E» JHEJ} 3“ (SpOt rate) ?w (fOI’WElI‘d rates) {/[[1 y E[” 15 &= :ZHHEJ‘ /J\ﬁ{% }, (Coupon
rate) 10% ~ 4 = ﬁgfj[’ﬁ?}‘ y I Eﬁ?ﬁ‘" %29 kil 2



6 (ot F ] J[JHHF = 1 3.0%

6 {5 | s~ = W F| R :3.6%
12 it i~ =& W F] S D 42%
A. $109.3
B. $106.4
C. $112.6
E*prfﬁi A
Fﬂ% [EJ =5 i?fﬁ‘[
$5 $5 $105

(02 (1O O] 1 O 1, 050 00
5 2 2 2 2 2
= $4.9261 + $4.8390 + $99.5290
= $109.3
ffﬁjﬁgf B (couponrate) I ARG TRIFIFE o
(Reading 54)

110. *%j[IF) EIE;J”T WEF|= (yield to maturity, YTM) FU#55r{i ?ﬁjjpe‘?

ZIHEFEE (YTM) “Hiflfeey ~ Bl posgpisk
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